National Testing Agency

Question Paper Name:

Subject Name :

Creation Date :

Duration :

Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :

95 Santali 29th Sep 2020 Shift 2
95 Santali

2020-09-29 23:30:48

180

300

Yes

Yes

Yes

95 Santali

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

1
21052960
0

180

No

No

300

No

PART I General Aptitude

SectionId :

Section Number:

210529103

1



Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 210529324
Question Shuffling Allowed : Yes

Question Id : 2105298452 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

Based on the data in the table, answer the questions that follow

The following table embodies the details about the students of the different departments' A, B
and C in a University for participating in the blood donation camp.

Participation in Blood Donation Camp - Data

Percentage| Percentage of blood | Number of blood

Department of Girls donatingGirls* donating Boys*
A 25% 40% 48
B 40% 50% 75
30% 70% 39

* - out of total blood donors

Sub questions

Question Number : 1 Question Id : 2105298453 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In case all the girls in the department 'A’ donated blood, then the number of boys in the
department ‘A’ who did not participate in the blood donation camp is

Options :

21052933201. 1
21052933202. 2
21052933203. 3

21052933204. 4

Question Number : 2 Question Id : 2105298454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who donated blood in the department 'C' is
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Options :

21052933205. 1
21052933206. 2
21052933207. 3
21052933208. 4

Question Number : 3 Question Id : 2105298455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The number of girls in the department "A’ who donated blood is

1. 32
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Options :

210529332009. 1
21052933210. 2
21052933211.3
21052933212. 4

Question Number : 4 Question Id : 2105298456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 45 boys from the department 'B' did not donate blood, then the total number of students in
the department 'B' is

1.120
2. 150
3. 80

4. 200

Options :

21052933213. 1
21052933214. 2
21052933215. 3

21052933216. 4

Question Number : 5 Question Id : 2105298457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of blood donors in the department ‘A’ compared to the

number of blood donors in 'B'?

1. 1:5
2. 2:5
3.9:16
4.815

Options :

21052933217. 1
21052933218. 2
21052933219. 3
21052933220. 4

Question Id : 2105298452 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension
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A | 25% 40% 48

B 40% 50% 75

C 30% 70% 39
* . o Ladaldie 4 9

Sub questions

Question Number : 1 Question Id : 2105298453 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933201. 1
21052933202. 2
21052933203. 3

21052933204. 4

Question Number : 2 Question Id : 2105298454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933205. 1
21052933206. 2
21052933207. 3

21052933208. 4

Question Number : 3 Question Id : 2105298455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

210529332009. 1
21052933210. 2
21052933211.3

21052933212. 4

Question Number : 4 Question Id : 2105298456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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. 120
2. 150
3. 80
4, 200

Options :

21052933213. 1
21052933214. 2
21052933215. 3

21052933216. 4

Question Number : 5 Question Id : 2105298457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3.9:16
4.8:15

Options :

21052933217. 1
21052933218. 2
21052933219. 3
21052933220. 4

Sub-Section Number : 2
Sub-Section Id : 210529325
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298458 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If your students are identified as 'Unable but willing' in terms of their performance readiness
level, which of the following methods of teaching will be considered appropriate to deal with

them?

1. Giving challenging tasks during teaching

2. Providing scope for sharing responsibility and recognition

3. Mentoring and guiding with close supervision

4. Small step presentations with error free tasks and frequent reinforcement

Options :

21052933221. 1
21052933222. 2
21052933223. 3

21052933224. 4

Question Number : 6 Question Id : 2105298458 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afe; 3 faenfial 3t ugam e oeRd TR &1 2P ¥ e, g 559 & T d B o 3
dl e ot Fafaiad & O @4 e fafyl o1 S9ged 541 9w 2

1. TRI&01 o R ZHIdge B &

2. FREIi AR I T & B A8 U ol

3. e & Thdem & A Wi R ARIeEH|

4, 1Y TS Wi, o AfegiH @il Ud WeaeH @l SR Bl

Options :

21052933221.1
21052933222. 2
21052933223. 3

21052933224. 4

Question Number : 7 Question Id : 2105298459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dentify from the following list of competencies of teaching, those which are related to
personality and attitude

A. Managing

B. Monitoring

C. Locus of control

D. Planning

E. Self-efficacy

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. Cand E only

Options :



21052933225. 1
21052933226. 2
21052933227. 3

21052933228. 4

Question Number : 7 Question Id : 2105298459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933225. 1
21052933226. 2
21052933227.3
21052933228. 4

Question Number : 8 Question Id : 2105298460 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List I

Assessment and Test L.

. . Description

interpretation methods

A. Formative assessment |. The test data help us to determine a student’s rank

) |Il. The test data tell us about a student's level of
B. Summative assessment .
proficiency

) lIl. The intention in the evaluation is to identify scope for
C. Norm-referenced testing ]
improvement

o , . V. Evaluation is in the form of judgment to be used for at
D. Criterion-referencing testing

least immediate future

Choose the correct answer from the options given below:

TA-LB-ILC-N,D-1IV
2A-NILB-IV,C-1,D-I
3A-IVB-IILC-IL,D-I
4 A-1,B-1,C-IV,D-1Il

Options :

21052933229. 1
21052933230. 2
21052933231. 3

21052933232. 4

Question Number : 8 Question Id : 2105298460 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1ILC-1LD-IV
ZA-NLB-IV,C-I,D-I
3JA-IV,B-UILC-1,D-1
4 A-1LB-1C-IV,D-1l

Options:

21052933229. 1
21052933230. 2
21052933231.3

21052933232. 4

Question Number : 9 Question Id : 2105298461 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: ICT based 'teaching support system' has the potential to optimize learning

outcomes

Statement II: Recent research have reported that factors relating to social competence
contribute more to learning than mere cognitive intelligence does

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options:

21052933233. 1
21052933234. 2
21052933235. 3

21052933236. 4

Question Number : 9 Question Id : 2105298461 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933233.1



21052933234. 2
21052933235. 3
21052933236. 4

Question Number : 10 Question Id : 2105298462 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university teacher proposes a research project on ‘why parents are apathetic to the
university programmes’. Which of the following research methods will be most appropriate for

the project?

1. Experimental method

2. Historical method

3. Participant-observation method
4. Ex post facto method

Options :

21052933237. 1
21052933238. 2
21052933239. 3

21052933240. 4

Question Number : 10 Question Id : 2105298462 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052933237. 1
21052933238. 2
21052933239. 3

21052933240. 4

Question Number : 11 Question Id : 2105298463 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which level of teaching there is optimum scope for cognitive interchange requiring analysis

and synthesis?

1. Memory level teaching

2. Understanding level teaching

3. Reflective level teaching

4. Autonomous development level teaching

Options :

21052933241. 1
21052933242, 2
21052933243.3

21052933244. 4

Question Number : 11 Question Id : 2105298463 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933241.1



21052933242. 2
21052933243. 3

21052933244. 4

Question Number : 12 Question Id : 2105298464 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Reliability is a necessary but insufficient condition for validity aspect of a research

tool

Statement II: Validity is threatened when a test measures only the construct it is designed to

measure in a research

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is carrect

Options :

21052933245. 1
21052933246. 2
21052933247.3
21052933248. 4

Question Number : 12 Question Id : 2105298464 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933245. 1
21052933246. 2
21052933247.3

21052933248. 4

Question Number : 13 Question Id : 2105298465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the features of scientific method from the following list
A. Clearly defined variables and procedures

B. Empirically verifiable hypotheses

C. Little or no scope for self correction

D. Linguistic justification of conclusions

E. Ability to rule out rival hypotheses

Choose the correct answer from the options given below:

1. A, B and E only
2.B, Cand D only
3.C, D and E only
4. B, D and E only

Options :



21052933249. 1
21052933250. 2
21052933251. 3

21052933252. 4

Question Number : 13 Question Id : 2105298465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933249. 1
21052933250. 2
21052933251. 3
21052933252. 4

Question Number : 14 Question Id : 2105298466 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the point of view of research ethics which of the following is least vulnerable in research?

1. Problem-formulation and identifying the variables involved
2. Data analysis and interpretation

3. Reporting of research result and their implications

4. Citing a theory in support of one's thesis

Options :

21052933253, 1
21052933254. 2
21052933255. 3
21052933256. 4

Question Number : 14 Question Id : 2105298466 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933253. 1
21052933254. 2
21052933255. 3
21052933256. 4

Question Number : 15 Question Id : 2105298467 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods in research are non-probability based?
A. Cluster sampling method

B. Dimensional sampling method

C. Random sampling method

D. judgement sampling method

E. Snowball sampling method

Choose the correct answer from the options given below:

1. B, C and D only
2. A, Band Conly
3.B, D and E only
4.C, D and E only

Options :

21052933257. 1
21052933258. 2
21052933259. 3

21052933260. 4

Question Number : 15 Question Id : 2105298467 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd B, C 3R D
2. ®HAAA, BARC
3. ®adB, D 3R E
4.HaAC, D 3ARE

Options :

21052933257. 1
21052933258. 2
21052933259. 3

21052933260. 4

Question Number : 16 Question Id : 2105298468 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Communication stimuli used to convey the message are known as

1. Process
2. Power
3. Channel
4, Codes

Options :

21052933261. 1
21052933262. 2
21052933263. 3

21052933264. 4



Question Number : 16 Question Id : 2105298468 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933261. 1
21052933262. 2
21052933263. 3

21052933264. 4

Question Number : 17 Question Id : 2105298469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communication activities of learners fall into domains consisting of
A. Perception

B. Groupism

C. Inter-personal skills

D. Regressive behavior

E. Inter-personal relations

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3. A, Cand D only
4. A, Dand E only

Options :



21052933265. 1
21052933266. 2
21052933267. 3

21052933268. 4

Question Number : 17 Question Id : 2105298469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933265. 1
21052933266. 2
21052933267. 3
21052933268. 4

Question Number : 18 Question Id : 2105298470 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: New media enhance the opportunities to expand the learning environment

unheard of before
Reason R: Learners can design their own learning process

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options:

21052933269. 1
21052933270. 2
21052933271.3

21052933272. 4

Question Number : 18 Question Id : 2105298470 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052933269. 1



21052933270. 2
21052933271. 3

21052933272. 4

Question Number : 19 Question Id : 2105298471 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequence of elements in linear model of communication is
A. Message

B. Decoder

C. Encoder

D. Medium

E. Noise

Choose the correct answer from the options given below

1.A CBED
2B D CAE
3CADEEB
.D.EEC A B

o

Options :

21052933273. 1
21052933274. 2
21052933275. 3

21052933276. 4

Question Number : 19 Question Id : 2105298471 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YR & D UIaH H el BT HTHH ¢ -
A o=

2. fadddm

C. Ghad

D. 71
U

i<l fGu U fasedl & ¥ 98l SR g

1.A CBED
2B D CAE
3CADEEB
4D ECAEB

Options :

21052933273. 1
21052933274. 2
21052933275. 3

21052933276. 4

Question Number : 20 Question Id : 2105298472 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1

List | List Il
A. Poor listeners . Scold others
B. Aggressive listeners II. Easily agree with the speaker

L lIl. Listen to ideas not understanding emotions
C. Positive listener

D. Pseudo-intellectual listeners ) ,
V. Fidget compulsively

Choose the correct answer from the options given below:

TA-LB-1ILC-1LD-IV
ZA-1L,B-,C-1V,D-1
JA-NLB-IV,C-,D-1
4 A-IVB-1LC-1LD-1I

Options:

21052933277. 1
21052933278. 2
21052933279.3

21052933280. 4

Question Number : 20 Question Id : 2105298472 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gi-1 &I gi-1n U gHferd Sifo

-1 Tl- 11

A. & ia . 30 B S &

B. ST HIdl 1. 3T T gad1 & 91y GeHd 8id &

c A=y g 1. HIGTTT TR 96 9 SR [GaRi &l gd 8
D. B Slfa® oidl  |Iv. PR Tad® AdeR Uaiid $d g
- feu e fapenl & € W8 SR 9T

TA-LE-IL,C-ILD-1V
2A-ILB-ILC-1V,D-|
3A-ILBE-IV,C-1,D-1I
4A-IVB-LC-1ILD-1

Options :



21052933277.1
21052933278. 2
21052933279. 3

21052933280. 4

Question Number : 21 Question Id : 2105298473 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Atrain is travelling at a speed of 96 kilometres per hour. It takes 3 seconds to enter a tunnel
and 30 seconds more to pass through it completely. Which of the following statements are
correct?

A. Length of the tunnel is 100 meters

B. Tunnel is longer than train

C. Train is longer than tunnel

D. Length of the train is 80 meters

E. Length of the tunnel in 800 meters

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and B only
3.Cand D only
4.B, D and E only

Options :

21052933281. 1
21052933282. 2
21052933283. 3
21052933284. 4

Question Number : 21 Question Id : 2105298473 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

U <o Wi el 96 fbeiiHieR @ 71fd ¥ =il 5| 96 U G H Yo &3 H 3 YbUS oiliell
AR IS Il TRe UR dA H 30 Yahvs 3R il 2 | FAufaiad O 4 T oY Gel & 2

A G &1 T 100 HIET 5

B. QOIS @1 qaT | i ofell |
C. XTI G ¥ Hf3fdh il 31

D. XTSI DI TdTg 80 Hiex &

£ QU 1 el 800 HieX
- feu v faseul § @ T8 I gAT:

1.®aAA, C3HRD
2. Had A 3R B
3.%ad C AR D
4,530 B, D IARE

Options:

21052933281. 1
21052933282. 2
21052933283.3
21052933284. 4

Question Number : 22 Question Id : 2105298474 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference between the ages of two men is 10 years. 15 years ago, the elder one was twice
as old as the younger one. The present age of the elder man is

1. 25 years
2. 35 years
3. 45 years
4. 40 years

Options :
21052933285. 1



21052933286. 2
21052933287. 3

21052933288. 4

Question Number : 22 Question Id : 2105298474 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&I odfderdl & 9 H 10 HIc 1 3R 21 15 9Idl Ugdl oUg aicd &1 35 dHY § G 41 dl daAF

Ty AfGd DI SH TN ?
1.25 9

3

PR

223

P
P

Options :

21052933285. 1
21052933286. 2
21052933287. 3
21052933288. 4

Question Number : 23 Question Id : 2105298475 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List Il
For two numbers 84 and 96 [Result
AL HCF . 672
B. LCM 1. 8064
C. Product 1I. 180
D. Sum V.12

Choose the correct answer from the options given below:

TA-1L,LB-IV,C-1ID-Il
2ZA-1,B-IV,C-I,D-1l
SA-ILB-IV,C-1,D-1
4 A-IV,B-1,C-1I,D-1l

Options:

21052933289. 1
21052933290. 2
21052933291. 3

21052933292. 4

Question Number : 23 Question Id : 2105298475 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol @3l 84 3R 96 & o0 Gl-1 &I G-l H f&d e uRom 9 gafed ik -

gal-| gl-1l

A TI T TH . 672

B. T 91 TH II. 8064
C. UHGd I1I. 180
D. I V. 12

AT feu TTu fasedi ¥ U8l 3R g :

TA-1LB-IV,C-1I,D-I
ZA-1L,B-IV,C-I,D-1
SA-ILB-IV,C-1,D-1
4 A-IV,B-1,C-1I,D-1l

Options :



21052933289. 1
21052933290. 2
21052933291. 3

21052933292. 4

Question Number : 24 Question Id : 2105298476 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: A number is divisible by 25, if the number formed by its last two digits is either
(00) or divisible by (25)

Statement II: A number is divisible by 16, if the number formed by its last 4 digits is divisible
by 16

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052933293. 1
21052933294. 2
21052933295. 3
21052933296. 4

Question Number : 24 Question Id : 2105298476 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d & HY [GU U § -

Y- - TP &A1 25 GRI faUTe €, 416 59 9% & Jifad &l 3@ (00) 1 (25) § =g 21
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SR BYAT & el A Fgifehd [dbeul 9 §g I I -

1. B | R 1 ST TR B

2. B | 3R 1| &HI Tad B

3. ®YH-1 9 &, fooeg Y- TTad &
4, BY-1 39 ©, T HU-11 el B

Options:

21052933293. 1
21052933294. 2
21052933295. 3

21052933296. 4

Question Number : 25 Question Id : 2105298477 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List Il

A. Triangle Area . Base x hight

B. Square Area Il. 1/2 x (Product of diagonals)
C. Ehombus Area lll. 1/2 x Base x Height

D. Parallelogram Area V. (Side)?

Choose the correct answer from the options given below:

TA-ILE-IV,C-,D-1
ZA-NLBE-IV,C-1,D-1
SA-NLE-IV,C-1,D-1
4A-1LB-N,C-L,D-IV

Options :
21052933297. 1

21052933298. 2



21052933299. 3
21052933300. 4

Question Number : 25 Question Id : 2105298477 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gil-1 Bl Gail-1l W GHd Bifere :

gl-| G-Il

A. BrS &1 gama . SR x $als

B. 911 &S 1. 1/2 x (AT &1 oHE)
C. §HAqHA @1 &%d 1. 1/2 x TR x Has

D. MR Igysl &1 &A% V. (35T)2

< f&u e fgdedl @ 98l SR g

TLA-ILB-IV,C-1,D-1l
2A-ILB-IV,C-1I,D-|I
S3A-ILB-IV,C-1,D-1I
4A-ILB-LC-1,D-1IV

Options :

21052933297. 1
21052933298. 2
21052933299. 3

21052933300. 4

Question Number : 26 Question Id : 2105298478 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



All flowers are toys. Some toys are trees. Some butterflies are trees, then
A. No butterfly is flower

B. Some butterflies are toys

C. Some toys are flowers

D. Some trees are flowers

E. Some trees are butterflies

Choose the correct answer from the options given below:

1. A and B only
2. C and E only
3.B and E only
4. B and D only

Options :

21052933301. 1
21052933302. 2
21052933303. 3

21052933304. 4

Question Number : 26 Question Id : 2105298478 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it qu faaH €1 oo fadi- gef €1 oo fadfemi qar g dr
A. B3 off el g T B

B. $o faaferdi RacH Bl

C. % Rl g g

D. % & JH 5|

E. © g4 faaferi g

AT fgu v famedl H 9 wel I g :

1. Had A 3R B
2. ®Had C 3R E
3. ®HadB AR E
4. HAAB 3R D

Options :

21052933301. 1
21052933302. 2
21052933303. 3

21052933304. 4

Question Number : 27 Question Id : 2105298479 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Wherever there is smoke, there is fire.

There is smoke in Mr Verma's chamber.

There must be fire in Mr Verma's chamber.”

In accordance with Indian logic, this is an example of

1. Pratyaksha pramana (Perception)
2. Upmana (Comparison)

3. Hetvabhasa (Fallacy)

4. Vyapti (Invariable relations)

Options :



21052933305. 1
21052933306. 2
21052933307. 3

21052933308. 4

Question Number : 27 Question Id : 2105298479 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
' Sfgl BEl Y3 €, gl A B
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41 381 & e F 4 g =Ry -
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Options :

A

L

21052933305. 1
21052933306. 2
21052933307. 3

21052933308. 4

Question Number : 28 Question Id : 2105298480 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In order to authenticate the environmental values as advocated by our ancestors, a scholar
cites examples from Vedas. The means of knowledge used by him/her in terms of Indian logic

will be called

1. Anumana (inference)

2. Arthapatti ( Implication)

3. Shabda (Verbal testimony)
4. Upamana (Comparison)

Options :

210529333009. 1
21052933310. 2
21052933311. 3

21052933312. 4

Question Number : 28 Question Id : 2105298480 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

SR Jdoil G G&I TafaRuiig T o W &  fU U el da) 3 SaTeRy 35y
B | YR Tb2Rd B 218 U I8 R TG T B IEH DI H gl ST

1. HFAA
2, YO

3. e
4, JUHH

Options :

210529333009. 1
21052933310. 2
21052933311.3

21052933312. 4

Question Number : 29 Question Id : 2105298481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In the series B, D, H, J, N, P, ... What will come after P?

A

S
R
T

$

Options :

21052933313. 1
21052933314. 2
21052933315. 3
21052933316. 4

Question Number : 29 Question Id : 2105298481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$@el B, D, H, J, N, P H P & dlg &1 ST 2

A

S
R
T

o+

Options :

21052933313. 1
21052933314. 2
21052933315. 3

21052933316. 4

Question Number : 30 Question Id : 2105298482 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If LIGHT is written as GILTH and FIGHT is written as GIFTH, then SIGHT will be written as

1. GISHT
2. GISTH
3. GSITH
4. GSIHT

Options :

21052933317. 1
21052933318. 2
21052933319. 3

21052933320. 4

Question Number : 30 Question Id : 2105298482 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IfE LIGHT ®I GILTH & ¥4 H o1 9l & 3R FIGHT @I GIFTH & ¥4 H foRal 911 & 1 SIGHT
@ o ¥ H forar wme 2

1. GISHT
2. GISTH
3. GSITH
4, GSIHT

Options :

21052933317. 1
21052933318. 2
21052933319.3

21052933320. 4

Question Number : 31 Question Id : 2105298483 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ul stands for

1. Graphical Usage Interaction
2. Gaming User Interface

3. Graphical user Interface

4. Graphical User Interaction

Options :

21052933321. 1
21052933322. 2
21052933323.3
21052933324. 4

Question Number : 31 Question Id : 2105298483 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hgs A aad g :

1. UMb e G4 3 elUasH
2. T goR geXhy

3. Aithdhd gok SeXhy
4, T goR eI

Options :

21052933321. 1
21052933322. 2
21052933323.3
21052933324. 4

Question Number : 32 Question Id : 2105298484 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Operating systems are hardware

Statement II: Algorithm is a step by step procedure to solve a problem

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement Il is true

Options :

21052933325. 1
21052933326. 2
21052933327.3
21052933328. 4

Question Number : 32 Question Id : 2105298484 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EICEAK AR RAE) (s

-1 ; ATRFHT e Brdam g

HUF- || - Veiiie faf ford Twear & Qe &1 90-e2-9X0 Ughd B
SR R & e P R 319 W SR E

1. BY | 3R 1 SHTEET B

2. @Y | AR 11 EF1 TTEd B

3. BYA-1 9 &, foog HYH-11 Tad B
4. HYF-1 AT 8, fooq BYA-11 9Bl B

Options :

21052933325. 1
21052933326. 2
21052933327.3

21052933328. 4



Question Number : 33 Question Id : 2105298485 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement I: Compilers are software

Statement II: Touch screen monitors are input/output devices

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

210529333209. 1
21052933330. 2
21052933331. 3

21052933332. 4

Question Number : 33 Question Id : 2105298485 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A T Py RU U E

FHUH-| - FHRAY JITedai 8|
HYA-1| : 79 TP HiHey TG,/ d SuH B |
Iuddad HYHl & Hald H FEiiad [deedl & T 981 SR 9 -

1. DY | 3R 11 TH Gl g
2. @Y | 3R 1| GFl Tad & |
3. HYH-1 9 B, fooeg HUH-11 TAd B |
4. DYH-1 3 HI 8, fooq HYH-11 98l B |

Options :



21052933329. 1
21052933330. 2
21052933331. 3

21052933332. 4

Question Number : 34 Question Id : 2105298486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Image . .doc

B. Video 1. .mp3
C. Audio Ill. jpeg
D. Word processing V. .mpeg

Choose the correct answer from the options given below:

TA-LE-IL,C-ILD-1V
2A-ILB-IV,C-1I,D-|
SA-ILB-NLC-1IV,D-|
4 A-1LB-IV,C-IIL,D-1

Options :

21052933333. 1
21052933334. 2
21052933335. 3
21052933336. 4

Question Number : 34 Question Id : 2105298486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gli-1 Dl Faii-11 & Y FHferd Hifor -
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A THA . a3 i
5. difsgr I, TH U3
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D. 93 Ui V. T O g ol
=g feu e f9@eal § 9§ 981 SR g :

TA-LB-ILC-1,D-1V
ZA-ILB-IV,C-II,D-1
SA-ILB-ILC-IV,D-I
4 A-LB-IV,C-1I,D-1

Options:

21052933333. 1
21052933334. 2
21052933335. 3

21052933336. 4

Question Number : 35 Question Id : 2105298487 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Search engine l. www.gmail.com
B.Job openings Il. www.amazon.in
C. E-mail . www.google.com
D. E-commerce V. www.naukri.com

Choose the correct answer from the options given below:

TLA-N,BE-IV,C-1,D-1
2A-IVBE-NIILC-1,D-1I
SA-LBE-ILC-1,D-IV
4A-LB-NLC-NI,D-1IV

Options :

21052933337.1



21052933338. 2
21052933339. 3

21052933340. 4

Question Number : 35 Question Id : 2105298487 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G- ®I ali-1l ¥ gHfed Sifo ;

gal-| -1l

A. Td S9H . www.gmail.com

B. Siia AU Il. www.amazon.in

C. g—ﬁlﬂ lIl. www.google.com
D. g—ﬁuﬂﬁ V. www.naukari.com
R eer e e o

TA-ILB-IV,C-1,D-Il
2ZA-IV,B-NILC-1,D-1
SA-LB-ILC-L,D-1V
4 A-LB-LC-1I,D-1IV

Options :

21052933337. 1
21052933338. 2
21052933339. 3

21052933340. 4

Question Number : 36 Question Id : 2105298488 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dentify the correct sequence of countries contributing to global CO; emission in decreasing
order from fossil fuel burning, cement manufacturing and gas flaring in the year 2014

A USA

B. EU-28

C. China

D. Russia

Choose the correct answer from the options given below

1.C,A B D
2ACBD
3.ABCD
4 A CDEB

Options :

21052933341. 1
21052933342. 2
21052933343.3

21052933344. 4

Question Number : 36 Question Id : 2105298488 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.CABD
2ACED
3.AECD
4 ACDE



Options :

21052933341. 1
21052933342, 2
21052933343.3
21052933344. 4

Question Number : 37 Question Id : 2105298489 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following are used as semiconductor materials to fabricate solar cells
A. Silicon (5i)

B. Tin oxide (SnO)

C. Cadmium Sulphide (CdS)

D. Gallium Arsenide (GaAs)

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3.B,Cand D only
4.A, B CandD

Options:

21052933345. 1
21052933346. 2
21052933347.3

21052933348. 4

Question Number : 37 Question Id : 2105298489 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, fafa®E (si)

8. fe1 3{1a133 (Sn0O)

C. B Geb5s (CdS)

D. TTIgH HEAIES (GaAs)
- fgu T fa@edl & ¥ 98! S gHU:

1. AT A 3R C
2. Had A 3R B
3. ®aAB, C 3R D

4.7, B,C3RD
Options :
21052933345, 1
21052933346. 2
21052933347. 3

21052933348. 4

Question Number : 38 Question Id : 2105298490 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Sustainable Development Goal?

1. Gender equity

2. Climate action

3. Protection of Ozone layer
4. Life below water

Options :

21052933349. 1
21052933350. 2
21052933351. 3
21052933352. 4



Question Number : 38 Question Id : 2105298490 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafgd 5 9 o9 9dd [ahaasd ol 6 2
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Options :

21052933349. 1
21052933350. 2
21052933351. 3

21052933352. 4

Question Number : 39 Question Id : 2105298491 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

Pathogens in water Disease they cause
A. Virus . Cholera

B. Bacteria Il Schistosomiasis
C. Protozoa lIl. Hepatitis

D. Helminths (Parasitic worm) IV. Dysentery

Choose the correct answer from the options given below:

TA-LE-N,C-IV,D-1I
2A-LBE-NLC-1LD-IV
SA-NLE-LC-ILD-IV
4A-NLE-1,C-IV,D-1

Options :
21052933353, 1

21052933354. 2



21052933355. 3

21052933356. 4

Question Number : 39 Question Id : 2105298491 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-IV,D-Il
ZA-1LB-U,C-ILD-1IV
SA-ILB-1L,C-NILD-1IV
4 A-1LB-1,C-IV,D-1I

Options :

21052933353. 1
21052933354. 2
21052933355. 3

21052933356. 4

Question Number : 40 Question Id : 2105298492 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are emitted from a coal-based thermal power plant?
A. Carbon monoxide

B. Ozone

C. Sulphur dioxide

D. Methane

E.Particulate matter

Choose the correct answer from the options given below:

1. A, B, Cand E only
2. A, CandE only
3. A, Band Conly
4. A C DandEonly

Options :

21052933357. 1
21052933358. 2
21052933359. 3

21052933360. 4

Question Number : 40 Question Id : 2105298492 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. ®Had A, C3HRE
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Options:

21052933357. 1
21052933358. 2
21052933359. 3

21052933360. 4

Question Number : 41 Question Id : 2105298493 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The three greatest challenges facing higher education in India, described by
FICCI (2012) are expansion, equity and excellence

Statement lI: While all three issues indicated in Statement | are inter-linked, equity to a large
extent is dependent on expansion and access

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true



Options :

21052933361. 1
21052933362. 2
21052933363. 3
21052933364. 4

Question Number : 41 Question Id : 2105298493 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933361. 1
21052933362. 2
21052933363.3

21052933364. 4

Question Number : 42 Question Id : 2105298494 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are regulatory bodies within the Department of Higher Education in the
Ministry of Human Resource Development in the Central Government?

A NUEPA

B. UGC

C. AICTE

D. DEC

E. ICSSR

Choose the correct answer from the options given below:

1. B, Cand D only
2.A B and Conly
3.C, D and E only
4. A Dand E only

Options :

21052933365. 1
21052933366. 2
21052933367. 3
21052933368. 4

Question Number : 42 Question Id : 2105298494 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933365. 1
21052933366. 2
21052933367. 3

21052933368. 4

Question Number : 43 Question Id : 2105298495 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify from the following, features which describe most appropriately the Indian values
A. Emphasis on individual ambition

B. Emphasis on collectivism

C. Emphasis on social progress

D. Emphasis on social stability

E. Emphasis on unity in diversity

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C,DandE only
4.B, D and E only

Options :

21052933369. 1
21052933370. 2
21052933371.3
21052933372. 4

Question Number : 43 Question Id : 2105298495 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933369. 1
21052933370. 2
21052933371.3

21052933372. 4

Question Number : 44 Question Id : 2105298496 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The UGC in India has statutory responsibility for maintenance of quality and
coordination of institutions of higher education

Statement II: The NCTE being a regulatory body for teacher education in India comes under
the control of UGC

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement || is false
4, Statement | is incorrect but Statement Il is true

Options:

21052933373. 1
21052933374. 2
21052933375. 3

21052933376. 4

Question Number : 44 Question Id : 2105298496 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933373. 1



21052933374. 2
21052933375. 3
21052933376. 4

Question Number : 45 Question Id : 2105298497 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In university governance, who is the executive head?

1. The Chancellor

2. The Vice-Chancellor

3. The Registrar

4. The Education Secretary

Options :

21052933377. 1
21052933378. 2
21052933379. 3

21052933380. 4

Question Number : 45 Question Id : 2105298497 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052933377. 1
21052933378. 2

21052933379. 3



21052933380. 4

Sub-Section Number : 3
Sub-Section Id : 210529326
Question Shuffling Allowed : Yes

Question Id : 2105298498 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

At the turn of the century, a dominant conception of the child as learner was that he was
cognitively an "empty organism” responding more or less randomly to stimulation, and
characteristically learning when specific responses were connected with specific stimuli
through the meditation of pleasure or pain. The organism itself, it was believed, would do
nothing to learn or think if it were not impelled to such activity by primary drives like hunger
or thirst or by externally applied motives like reward and punishment. Experimenters in the
laboratory were connecting correct responses of animals to puzzle boxes by giving or
withholding food and teachers in the classroom were connecting correct responses of children
to problem cards by giving or withholding approval.

In pointing to this aspect of the turn-of-the-century view of the learner, | do not mean to
derogate the historic achievement of the connectionist formulation of learning. But the
essential point remains, a conception of the learner as an ideationally empty organism
associating discrete stimuli and responses through the operation of rewards and punishments
under the control of the teacher. Both the stimulus - what was supposed to be learned - and
the response - what was actually learned - were believed to be determined by the teacher.

It was no accident that the materials and methods of instruction and the form of the classroom
were teacher-centred. The teacher was necessarily placed in front of the classroom -
sometimes on a dais or platform - and the pupils in chairs rigidly fastened to the floor in
straight rows facing forward so they would not turn away from the only source of the learning
experience: the teacher. Given this contemporary vision of the learner, what could be a more
eminently practical and sensible image of the ideal learning environment? Indeed, there is a
letter by John Dewey dating from this period in which he complains that when he was trying to
equip his new school according to his different conception of child as learner, he was unable
to find any other kind of classroom furniture.

Sub questions



Question Number : 46 Question Id : 2105298499 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The early child was thought of as

1. Intelligent enough to know both pain and pleasure
2. Having no power of cognition

3. Not amenable to specific stimuli

4. Having motivational effect in a random way

Options :

21052933381. 1
21052933382. 2
21052933383. 3

21052933384. 4

Question Number : 47 Question Id : 2105298500 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic idea behind laboratory experiment was related to

1. Motivating the child with reward and punishment

2. Considering hunger and thirst as negligible in impact
3. Animals and children having the same drive

4. Teachers controlling children

Options :

21052933385. 1
21052933386. 2
21052933387.3

21052933388. 4

Question Number : 48 Question Id : 2105298501 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The connectionist formula placed importance on

1. Withholding negative stimuli

2. Teacher-centric motivation

3. Search for specific responses

4. Doing experiments in laboratories

Options :

21052933389. 1
21052933390. 2
21052933391. 3

21052933392. 4

Question Number : 49 Question Id : 2105298502 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was expected of pupils during those early days?

1. To create an ideal learning environment

2. To be in the forefront of the classroom

3. Be attentive towards classroom teaching

4. To place the teacher on the higher pedestal

Options :

21052933393. 1
21052933394, 2
21052933395. 3
21052933396. 4

Question Number : 50 Question Id : 2105298503 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What did John Dewey say of child learning?

1. Teacher as the only source of knowledge

2. The learner should be given incentives for learning
3. The existing educational environment was ideal

4. The focus should be on child as a learner

Options :

21052933397. 1
21052933398. 2
21052933399. 3
21052933400. 4

Question Id : 2105298498 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105298499 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
21052933381. 1
21052933382. 2



21052933383. 3
21052933384. 4

Question Number : 47 Question Id : 2105298500 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933385. 1
21052933386. 2
21052933387.3

21052933388. 4

Question Number : 48 Question Id : 2105298501 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933389. 1
21052933390. 2
21052933391. 3

21052933392. 4



Question Number : 49 Question Id : 2105298502 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933393. 1
21052933394. 2
21052933395. 3

21052933396. 4

Question Number : 50 Question Id : 2105298503 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933397. 1
21052933398. 2
21052933399. 3

21052933400. 4
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Number of Questions : 92
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Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529327
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105298504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052933401. 1
21052933402. 2
21052933403. 3

21052933404. 4



Question Number : 51 Question Id : 2105298504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052933401. 1
21052933402. 2
21052933403.3

21052933404. 4

Question Number : 52 Question Id : 2105298505 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1971
2. 1960
3. 1956
4. 1946
Options :

21052933405. 1
21052933406. 2
21052933407. 3

21052933408. 4

Question Number : 52 Question Id : 2105298505 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1971
2. 1960
3. 1956
4. 1946

Options :

21052933405. 1
21052933406. 2
21052933407. 3

21052933408. 4

Question Number : 53 Question Id : 2105298506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

210529334009. 1
21052933410. 2
21052933411.3
21052933412. 4

Question Number : 53 Question Id : 2105298506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933409. 1

21052933410. 2

21052933411. 3

21052933412. 4

Question Number : 54 Question Id : 2105298507 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933413. 1
21052933414. 2
21052933415. 3

21052933416. 4

Question Number : 54 Question Id : 2105298507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2. 915 Sfug

Options :

21052933413. 1
21052933414. 2
21052933415. 3

21052933416. 4

Question Number : 55 Question Id : 2105298508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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21052933417. 1
21052933418. 2
21052933419. 3

21052933420. 4

Question Number : 55 Question Id : 2105298508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052933417.1
21052933418. 2
21052933419. 3

21052933420. 4

Question Number : 56 Question Id : 2105298509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933421. 1
21052933422. 2
21052933423.3

21052933424. 4

Question Number : 56 Question Id : 2105298509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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the soul that is everywhere and in each, and forms all into one gracefull and intelligent whole.
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Question Number : 106 Question Id : 2105298559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) SFTHT
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(C) fawarera-
(D) YT
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1. (A) 91X (B)

2. (B) 3R (D)

3. (D) ¥R (E)

4. (C) $1R (D)
Options :
21052933621. 1
21052933622. 2
21052933623. 3

21052933624. 4

Question Number : 107 Question Id : 2105298560 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
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Options :

21052933625. 1
21052933626. 2
21052933627.3
21052933628. 4
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
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21052933626. 2
21052933627. 3

21052933628. 4
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(C) TS

(D) Taugal
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1. (A) 3R (B)
2. (B) 3R (C)
3. (C) 3R (D)
4. (D) 3R (E)

Options:

21052933629. 1
21052933630. 2
21052933631.3
21052933632. 4
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052933632. 4
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Correct Marks : 2 Wrong Marks : 0
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21052933634. 2
21052933635. 3
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) &dl YITad
(B) TGS
(C) ITRES
(D) IRG

(E) ATHUST
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1. (A) 3R (B)

2. (B) AR (C)

3. (Q) 3R (D)

4. (D) 31R (E)
Options :
21052933633. 1
21052933634. 2
21052933635. 3

21052933636. 4

Question Number : 110 Question Id : 2105298563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0
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Options :

21052933637. 1
21052933638. 2
21052933639. 3
21052933640. 4

Question Number : 110 Question Id : 2105298563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933637. 1
21052933638. 2
21052933639. 3
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Question Number : 111 Question Id : 2105298564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hi1ch &I =N T 9uf @G SHE1? He I FraE | -

(A) Y
(8) B
@k
(D) H
(B) H

1. (B) 3R ()

2. (C) 3R (D)

3. (A) 3R (B)

4. (D) 3R (E)
Options :
21052933641. 1
21052933642. 2
21052933643. 3

21052933644. 4

Question Number : 111 Question Id : 2105298564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933641. 1
21052933642. 2
21052933643. 3
21052933644. 4

Question Number : 112 Question Id : 2105298565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
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21052933647. 3

21052933648. 4

Question Number : 112 Question Id : 2105298565 Question Type : MCQ Option Shuffling : No
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hidb! ITs Yifch &l 1994 Hrd ¥ S1U1 9IGR TiH1? &¢ ¥ 9181 H -
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Options:

21052933645. 1
21052933646. 2
21052933647.3
21052933648. 4

Question Number : 113 Question Id : 2105298566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052933651. 3
21052933652. 4

Question Number : 113 Question Id : 2105298566 Question Type : MCQ Option Shuffling : No
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
21052933649. 1
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Question Number : 114 Question Id : 2105298567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. (C) 3R (D)
Options:
21052933653. 1
21052933654. 2
21052933655. 3

21052933656. 4
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Correct Marks : 2 Wrong Marks : 0
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Options :

21052933653. 1
21052933654. 2
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933657. 1
21052933658. 2
21052933659. 3
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Question Number : 115 Question Id : 2105298568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) ‘ﬂ Bl
(B) TMUS
(C) 34
(D) SIX
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1. (D) 3R (E)

2. (A) X (B)

3. (Q) 3R (D)
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Options :
21052933657. 1
21052933658. 2
21052933659. 3

21052933660. 4

Question Number : 116 Question Id : 2105298569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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21052933662. 2
21052933663. 3
21052933664 4

Question Number : 116 Question Id : 2105298569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(B) STl sl )
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(D) 3MEST Yl (IV) 1956 TZHT

1. (A) - (
2. (A) - (
3. (A) - (lm), (B) - (1),
4. (A) - (1), (B) - (1),

1), (B) - (IV), (C) - (1), (D) - (I
V), (B) - (I), (C) - (1), (D) - (i)
Q) - (). (D) - (V)

Q) - (V). (D) - (1)

—_—
e

Options:
21052933661. 1



21052933662. 2
21052933663. 3

21052933664. 4

Question Number : 117 Question Id : 2105298570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(B) q WA (1) PRE T
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2. (A) - (1), (B) - (IV). (C) - (1). (D) - ()

3. (A) - (). (B) - (1), (C) - (V). (D) - (1)

4. (A) - (1), (B) - (1), (C) - (M), (D) - (IV)

Options:

21052933665. 1
21052933666. 2
21052933667. 3
21052933668. 4

Question Number : 117 Question Id : 2105298570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

2. (A) - (1), (B) - (1IV), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (1), (©) - {IV), (D) - (1)

4. (A) - (1), (B) - (), (C) - (), (D) - (IV)

Options :

21052933665. 1
21052933666. 2
21052933667. 3

21052933668. 4
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) SENTES (1) TS
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2. (A) - (IV), (B) - (In), (C) - (I, (D) - ()
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4. (A) - (In), (B - (V). (C) - (1), (D) - (1)
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21052933670. 2
21052933671. 3

21052933672. 4
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Correct Marks : 2 Wrong Marks : 0
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I=
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Options :

21052933669. 1
21052933670. 2
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0
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1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (IV), (B) - (), (C) - (1), (D) - (1)

Options :

21052933673. 1
21052933674. 2
21052933675. 3
21052933676. 4

Question Number : 119 Question Id : 2105298572 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
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1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (IV), (©) - (1), (D) - (tmy

4. (A) - (IV), (B) - (1), (©) - (1), (D) - (1)

Options:

21052933673. 1



21052933674. 2
21052933675. 3

21052933676. 4

Question Number : 120 Question Id : 2105298573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. (A) - (1), (B) - (1), (C) - (i), (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (), (D) - ()

4. (A) - (1), (B) - (IV), (C) - (1), (D) - {1n)

Options :

21052933677. 1
21052933678. 2
21052933679. 3
21052933680. 4

Question Number : 120 Question Id : 2105298573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(B) AT § (1) 19 a8
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(D) WG SR (1v) g1 e
1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (I, (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

Options :

21052933677. 1
21052933678. 2
21052933679. 3

21052933680. 4

Question Number : 121 Question Id : 2105298574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) - (), (B) - (IV), (C) - (1), (D) - (1N

2. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (IV), (B) - (1), (C) - (), (D) - ()

4. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)



Options :

21052933681. 1
21052933682. 2
21052933683. 3
21052933684. 4

Question Number : 121 Question Id : 2105298574 Question Type : MCQ Option Shuffling : No
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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- (), (8) - (V). (C) - (I), (D) - (1)
- (1), (B) - (1), (C) - (IV), (D) - (Il
- (IV), (B) - (I, (C) - (1), (D) - (1
- (). (B) - (In), (C) - (IN), (D) - (V)

Options :

21052933681. 1
21052933682. 2
21052933683. 3
21052933684. 4

Question Number : 122 Question Id : 2105298575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) - (IV), (B) - {1, (C) - (), (D) - (i)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (), (B) - (), (©) - (1), (D) - (V)

Options :

21052933685. 1
21052933686. 2
21052933687. 3

21052933688. 4

Question Number : 122 Question Id : 2105298575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0
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1. (A) - (1), (B) - (IV), (©) - (1), (D) - (1)

2. (A) - (IV), (B) - (1), () - (In), (D) - (1)

3. (A) - (1), (B) - (1), (€) - (IV), (D) - 1)

4. (A) - (1, (B) - (I, (©) - (1), (D) - (IV)

Options:
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21052933686. 2
21052933687. 3
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Question Number : 123 Question Id : 2105298576 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
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Options:
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Tl - 13 ST R it - 113 gt =[qH A1 3, el (e $ldd de L 9ara o -

qdl - | Tt -1
(A) T FUrdl (1) AR Hdhaa
(E} Hgledl gt (i 3if%r dom
(C) AT S aTeA™ URIIGE2!
(D) BT T9Gd 3EIH (v) i8R
1. (A) - (1), (B) - (1IV), (C) - (1), (D) - (1)
2. (A) - (IV), (B) - (1), (C) - (1), (D) - ()
3. (A) - (), (B) - (I, (C) - (1), (D) - (IV)
4. (A) - (1), (B) - (), (C) - (1V), (D) - (l1)
Options :

21052933689. 1
21052933690. 2
21052933691. 3

21052933692. 4
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Tl - | 3 SR S[qH 3R Gl - 11 A1 S UE 3116, Yel e dide $e

GIRICE S

T - | It - I

(A) foaa aiEh (1) 1792 T
(B) gYHTd (1l) 1806 T
(C) Jam Ersa (111) 1888 T
(D) SFaRT HiTd (IV) 1750 TRHT
1.(A) - (1), (B) - (IV), (C) - Il)

2. (A) - (IV), (B) - (), (C) - 1)

3. (A) - (1), (B) - (1), -(IV)

4. (A) - (1), (B) - (1), ( (1)

Options:

21052933693. 1




21052933694. 2
21052933695. 3

21052933696. 4
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Yt - 1 ¥ dRaTUeT SgH SR Gl - 11X DI T A1 HHIH ], Yol Held dldd de ¥
deaH -
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21052933693. 1
21052933694. 2
21052933695. 3
21052933696. 4
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el - 1 Ul <[ 3R Gl - 11X IS YA AT, Go! FATd i ge X arSa H -

ol - | gt - 11
A) TRATS ST (1) 2002
(B) WATS 9T AHAIS IXdl (1) 2009
(C) STgX aHT IaTd @i (111) 1994
(D) Sifd YRH (IV) 1993
1. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) - (IV), (B) - (1), (C) - (), (D) - ()

3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (), (C) - (1V), (D) - (111}
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21052933697. 1
21052933698. 2
21052933699. 3
21052933700. 4
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T - 13 0 ST R G - 1 I8 IR S, e e So- Ge Y SeE H -

gl - | g - 11
A) TRATS |0 (I) 2002
(B) WATS 191 GHdIS Udl (Il 2009
(C) STeX &1 9T @i (1) 1994
(D) ST R (IV) 1993
1. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) - (IV), (B) - (M), (C) - (In), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (In), (C) - (1V), (D) - (1)

Options:

21052933697. 1



21052933698. 2
21052933699. 3

21052933700. 4
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FISBRA AR BUSH Y1 ST Ut ciabrd fierg grsi ficrd 4581 < gIUiH didig <[qH gl
GIREIEEIEIGE]

1. 9H, 9FYH, IR, GHE
2. GFHE, 7, 98], TR
3, gg], §HHE, IR, /H
4. 91, GHE], 9, 9FYE
Options:
21052933701. 1
21052933702. 2
21052933703. 3

21052933704. 4
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TIeBA AR EUSH Y diyT §U1 didbrd fUed ere fieid g5e! 3 gIUiF SIdId S[qH gl
A HrolTaH |

2. gAY, 9, 93, TR
3. gHg1 §HYE, TR, 9H
4, 9R, GHg], 9H, EYE

Options :

21052933701. 1



21052933702. 2
21052933703. 3

21052933704. 4
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AR ¥ HId DM gordls el I, Sidl &l Ulfed adiE geidil

2. facre1 #igh fagie, Yaid fagie, IaM, 9ars fasie
3. Yard f3sie, SaaF, gars fasis, faaer aih fage
4. ST, 9a1s faatg, faco #ish fasis, Yo [d6E

Options:

21052933705. 1
21052933706. 2
21052933707. 3
21052933708. 4
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AR Y 37d B godls Sreaid I, Hidl &l Uiied aae el

2. ot Hish fasig, Yard [9sig, I, gars fdsig
3. Gd1d fasis, SavaH, 9a1s fagre, faaw Tl fage
4. I, ga1s fasig, facd wish [9sie, dam fase

Options :
21052933705. 1
21052933706. 2



21052933707. 3

21052933708. 4
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AR WTd 914 &1 GRYTA Y31 ddbld Tlel aig-1H greiad |

2, Iy, Srefaxdl, AT, R
3. ¥, R, da, S fad
4, R, A, Srefaed!, ddd

Options:

210529337009. 1
21052933710. 2
21052933711.3

21052933712. 4
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AR W1 UIYH & URYT UH1 Sidbld gl dig-H gy |

2. day, Sretadl, 3T, g
3. 3T, NG, d, Sretadl
4. ¥, 3w, Srefat, day

Options :

21052933709. 1
21052933710. 2
21052933711. 3

21052933712. 4
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Correct Marks : 2 Wrong Marks : 0
AR X TH 3 T ®l W1 =qH Ulied aidiE’ 38 3fidbH ddld 9relaH |

1. YR IHT1 I Hald, HOR e, aredl ¢, SR
2. ¥R e, YR aIdT X Held, iR, arst! 4=
3. T 4, Y GIdT ¥ 3G, YOR Be, SRR
4. T2 4, FHIEITR, SOR e, YRl ST ¥ Hald

Options:

21052933713. 1
21052933714. 2
21052933715.3
21052933716. 4
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AR ¥ TH 3 T ®I 1% <qH ‘Uiied dhE’ 38H b ddld SrelaH |

1. YR G101 X eI, 99R e, arefl 4, SR
2. TR e, YRl el ¥ Hald, SRiEiar, areil 4=
3. Gre7l 4, YR g1 I Heald, $UR Ure, SRR
4. SIS U, IR, TOR He, YR GIdT X Hald

Options :

21052933713. 1
21052933714. 2
21052933715. 3

21052933716. 4
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g18 Te=1 Wi Ut IS bl d 3T dlel dRIH e

1. BRAIA Il S, Tisi Sed], Gdl g, SIieH g 3=
2. Higli B!, ¢dl G M, dRAd JdEEH, gt fUg) 9=
3. ¢dI SO, SR AdkdeH, Sifid gt T=, Al e
4. T 001 U=, €4l g™, SR X4l $H, Jish 8edl

Options :

21052933717. 1
21052933718. 2
21052933719. 3

21052933720. 4
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gl T3 Y 1oft SO AT o il el JE e

1. BRI W4T B, High Sled, ¢dl g™, G- gl 3=
2. Ozl sre®, ¢dt g, SRAE Ak, gifE foa e
3. Tdi iU, dRad JdareE, gIfEs gl Te, #iEl aee
4. gIfEH il U=, <41 GO, SRdra an: &H, Jigl Sedl

Options :

21052933717. 1
21052933718. 2
21052933719. 3

21052933720. 4

Question Number : 131 Question Id : 2105298584 Question Type : MCQ Option Shuffling : No
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AR Y T B HHSs T & URyrd Y31 ddbld T8l - I grerad |

1. SE, TTH, Sk fadel, eld fe-e faar
T, SR fGagT, AR 61 fadR, IR
 ATeTd 16 fodR, arew, S fadgt, A
.o fedel, TFH AR faTe faR, IR

F O TR

Options :

21052933721. 1
21052933722. 2
21052933723.3

21052933724. 4
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AR ¥ T A HHISe QU &1 R W4T Sdbd el - drg=id grefad |

Options :

21052933721. 1
21052933722. 2
21052933723.3

21052933724. 4
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HIDIG DI A A Hided dlsRAl &I, AEI-A-IE ddld &l e

1. SIP TSR, 9 Sl5eH, a- ofFeH, TRithfay st
2. o ST, Wity e, TR tESH, 9F SEed
3. IR Thferg Ry, & oI, 9 S13eH, | UsiA
4. 9F Slge-, Wibfoy s, Th TS, o4 98

Options :

21052933725. 1
21052933726. 2
21052933727.3

21052933728. 4
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31119 P G 3 Hided PISRAl P, TEI-dMAH TPId DI Gedl?

1. A TSI, 9TH S5eH, a4 SHYH, TRitiey s
2. &9 SIFYH, TRIGIAY [e-l, |i® T2, 9H Siged
3. IR iy Frel, &9 9HTH, 9F Siged, S TS
4. 9F STged, Withiey s, % TeieH, §9 ST

Options:

21052933725. 1
21052933726. 2
21052933727.3

21052933728. 4
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BIS@IA AR GUSH®! TP PIYT I YR ST eIy aTgRiod Gl grl AHIY T S
Sd! TIEI-aaAE BRI AT

1. AHFRTS, 3416 GIBRIG, §1dTS gldi A, BIedld I
2. 31 EIDRIS, dldTS §ld! I, AGFRTS, BICHIH e
3. FI91S B! 39, TR, BIChIH v, 31D STDRIS
4. DICHIH I, 319 BIHRIS, TAFRI, Sidig gl I

Options :

21052933729. 1
21052933730. 2
21052933731.3

21052933732. 4
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BIG@RA AR QIS Y1 ST CIbId YRl S Wigidy IgRord G gral ATy ST S
D! AET-dHH BleleTd Brar?

1. TR, SA1 SIDRIS, Sia1s gl X9, Bledi I
2. SAI% SO, SIdTS B! 9, TAF, BIEHH 6l
3. FIG1S B 9, TR, HIChIH v, T STDRIS
4. BICHIY X, TA1 SIHRI, dAFRIS, S48 gl I

Options:

21052933729. 1
21052933730. 2
21052933731.3

21052933732. 4
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HIDH URYl SIS diareg faar del-a/kE e

1. 1 oli-12], GBI, 3R], &l
2. 3], wiel, 3T olf =1, gaxid
3. Ticl, YaRId, 3%, ST %
4. gaId, Wiel, 3R%], 31 ol

Options :

21052933733. 1
21052933734. 2
21052933735.3
21052933736. 4
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HIHH IR HiSRA didig e de-a/™E e

1. 31 AT, b, 3], el
2. 3%, Wiel, 3T SIS,
3. Tiel, Ghad, &, Bl ol
4. GBI, &S, 3T, ST AT

Options:

21052933733. 1
21052933734. 2
21052933735.3

21052933736. 4
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Option Orientation : Vertical
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TISHRA AR FYSHD! YId BT Tdld Ydld Diaid fHq 3/ W el 441 dlp Uiigd
GH dr ¥ a4

4, TS 931, WIRYT e, Y g, 9

Options :

21052933737. 1
21052933738. 2
21052933739.3

21052933740. 4
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Correct Marks : 2 Wrong Marks : 0

TISBRA AR BGSMH®! Y16 HIYT Tdbld Yol i i 31 WiH Teid Ui 1 ‘Uiiga
G dEm 4 gred 1|

4, TS 92, SIRG! e, 3193 gy, 9

Options:

21052933737. 1
21052933738. 2
21052933739. 3

21052933740. 4
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR X UH 3 Y1 Assertion (A) BT R IS Reason (R) B1YT Ha < 3ol digdl Geidl,
GIRIER:

I (A) : TGS HH &1 SIgHT a1 o B
3 (R) : BISA! Y e @M ford! &f Y drel|

1. (A) ¥R (R) SR el 3R (R) WWWW

2. (A) 3R Wﬁiﬂmﬁﬂaﬁ &l (A) T 1Yl §- TeTal
3, cmﬂﬁmﬂ:ﬁaﬂ ) 4TS QeI

4 cmaﬁﬁﬂ‘sﬂmﬂﬂ“@H ) QeI

Options :

21052933741.1
21052933742. 2
21052933743. 3
21052933744. 4
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TR 3 W B YT Assertion (A) BTUT AR IS Reason (R) BUT & L Hd S5l Geidl,
GIRIGRE]

YT (A) : il A &l BISHI WG o HH|
3 (R) : BISHI Y e WM fordl gyl dren

1. (A) 3R (R) §FR eI 3R (R) WWWW

2. (A) 3R Wﬁ‘sﬁmﬁiﬂaﬁ &l (A) TTe HIY1 910 TIdal
3 cmﬁmﬂ:ﬂaﬂ GIEREL]

4 cma@ﬂ‘aﬂmﬂ:@H ) qeran

Options:

21052933741.1
21052933742. 2
21052933743. 3

21052933744. 4
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TR 3 W B YT Assertion (A) BTUT AR IS Reason (R) BUT & L Hd S5l Geidl,
GIRIGRE]

YT (A) : HIHG! SIqanidl o S
&mﬁﬁﬁ:fﬁ%ﬂ?ﬁﬁﬂ%iﬂﬁﬁﬁﬁﬁﬁ%Wﬂqahﬁﬁsﬁm?ﬂaa?ﬁﬂaﬁm|

. (A) ¥R (R) THR &1 3R (R) Eﬁﬁaﬂﬂﬂigﬁﬁmﬂl
(A EWﬂ?{EﬁﬂfFﬁﬂq &l (A) T BT 919 G|

1. (A) SR

2. (A) SR

1(A)ﬂ€hﬂanmq BEER I
4, (A) STS Y191 59 H (R) eI
Options:

21052933745, 1
21052933746. 2
21052933747. 3

21052933748. 4
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TR X U M YT Assertion (A) BIUT 3R IS Reason (R) B1Y1 & ol dred] el
GIRIGRE

Y1ty (A) : Tl Tiaaial e sl
amﬁﬁﬁ:fmﬁﬂqﬁmﬂ%iuﬁpﬁtmﬁ@mh%dﬁmﬁsnM?ﬂaa?ﬁﬂaﬁm|

1. (A) 3R (R) SR Gerdl 3R (R) uﬁﬁaﬂmagﬁmiﬂ

2. (A) 3R Wﬁﬁmﬁq@ﬁ &l (A) T BT 919 GRIdel|
3, (A)ﬁ‘aﬂmﬁ:@ﬂ BEIEREL

4. (A) 91 Gerd BFEH (R) Ge il

Options :

21052933745. 1
21052933746. 2
21052933747.3



21052933748. 4
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TR < U M YT Assertion (A) BTUT R IS Reason (R) B1Y1 & L @l dlgdl Geidl,
CIEIGE

Y1 () : TR0 A MISTS WWid HISTS TR Bl T ¥ T QG|

3l (R) : W#Gﬂ?ﬂﬁq%ﬂ reTG ¥ IRA1 UHH HISTS SWRP dledl, HgH g grs
am’lmm

1. (A) 3R (R) R Gerdl 3R (R tr@aa‘rarrqg@am
2. (A) IR W@mﬁm@m &l (&) TP B1YT §F G|
1(A)ﬂ€hﬂfFﬁmq (R) T8 eIl

4. (A) 915 el BEH (R) Gel

Options :

21052933749. 1

21052933750. 2

21052933751. 3

21052933752. 4
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AR I W B YT Assertion (A) BTUT HR IS Reason (R) BTUT HE < ST d5al Geudl,
araa |

Y1 (A) : TR0 A M1STS Wit SIS TR B G U T TR |

3l (R) : Wﬁa’rﬁqﬁq%ﬂ raTG ¥ a1 HHH SIS SWRD dledl, HaH i MSrs

Emmﬁ$6ﬂ|

1. (A) ¥R (R) SR el 3R (R) aﬁﬁammagﬁmiﬂ
2. (A) 3R Wﬁﬁmﬁﬁaﬁ &l (A) T BrYT §F Tl
3, cmiﬁmﬂ:ﬁaﬂ (R) 915 eIl
4. (A) 915 Yo HFEH (R) Ge 11|
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21052933749. 1
21052933750. 2
21052933751. 3
21052933752. 4
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TR X UH 3 Y1 Assertion (A) BT R IS Reason (R) B1YT Ha < 3ol digdl Geidl,
GIRIER:

oIfii (&) : BRI i TS ®H GG &M 61 d 41d T TGN

3ial (R) : a1 d UeTe dldidp Al I 41d T AgHIl

R) THR Gerdl 3R (R), (A) 3Md BIUYE g

R) TR &1 Terdl 3R (R), (A) 3Md BIUYG Gdal|
R) MR el 3R (R), (A) 3 byl §19 GEaal|

R) TFR 18 QeI 3R (R), (A) 3@ B 919 TRaal|

SR (
(
(
(
Options :

21052933753. 1
21052933754. 2
21052933755. 3

21052933756. 4
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TR X UH 3 Y1 Assertion (A) BT R IS Reason (R) B1YT Ha < 3ol digdl Geidl,
GIRIER:

oIfii (&) : BRI g TS @M G &M W5l d 41d THGR

3 (R) : 711 & UeT BidTd G L Hd T IRl

IR (R) TFR TedT 3R (R) aﬁﬁammugﬁﬂmﬂ|
(Rymﬁﬂaﬁ§§aa1aﬁ A) 3 DIYY JETda]
(R) TR QeI 3R (R) &mﬁaﬂﬂﬁﬂagﬁmﬁﬂ|
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Options :

21052933753. 1

21052933754, 2

21052933755. 3

21052933756. 4
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TR 3 W B YT Assertion (A) BTUT AR IS Reason (R) BUT & L Hd S5l Geidl,
GIEIGE:

YIfiq (A) : BT R SHHICEe =g a8 dledl|

39 (R) : ISE @I ol U T M1 X B A5 g Ao |Iet g A

1. (A) 3R (R) ¥R Tordl 3R (R) ﬂﬁﬁaﬂﬂﬂiﬂﬁﬁmﬂl
2. (A) 3R Emﬂqgﬁﬁﬂftmmq Tl (A) T 1Y §- Gaal|
1(A)§€hﬂfFﬁmq BEER I

4. (A) ST G191 59 H (R) G0

Options:

21052933757. 1
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Question Number : 140 Question Id : 2105298593 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR I W B YT Assertion (A) BTUT HR IS Reason (R) BTUT HE < ST d5al Geudl,
GIRIGE: _

YT (A) : THTRA R HACTEID <JgH T6 el

3Tl (R) : 3MSE @I Tl 7T die T 3 B e g Ao @idt 71 de-|

1. (A) 3R Wg‘sﬁma{r{ wwmg@am

2. (A) 3R (R) SFR el B98H (R) B (A) T 14T 919 Gerdel |
3. (A) ﬁéiqmrugm R‘EEIS'H%FWTI

4. (A) STS QEId1 519 H (R) QeI

Options :

21052933757. 1
21052933758. 2
21052933759. 3

21052933760. 4

Sub-Section Number : 2
Sub-Section Id : 210529328
Question Shuffling Allowed : Yes

Question Id : 2105298594 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension



AT HTHT FTAT FI G GRIE PTd UEETd § AR Foal a1 91 T 95 gllag G
TS T |

ST 9IS WP YeH AR IR &l W 91 gl o 7 918 918, 961 of et af 323
U1 TET R 3RE 3 [q@INal &1 651 5. $ 01 URY! WP 9! Yel Fided AR 9@l
P! 03 Th BRE TR T T SHG G, Teied TR BaG W IRl
TIeld TR AT U1 IS 3 dIaR S, S, U=, ¢ard, Sedl, ifess, o,
UEedl 4 AR® HRA SRY A URY SH11 A6 i R G T |idl @ qR|
i1 UR! stz a1 6 URY! 4% AW | Ye dffedH giel B eIl by Te fer d
I for & @ Hale BFI, TAEH A A% A gy A4 L e YaE 39K 9EaR
SO Y1 Sl d B B | HHP Bl "% Wi HiH R SH1| IRY 9RE 3H R
TR HR I T HEHee B GHIGT| AR S L HeHGedId, R, TF, &5 9IF],
SIga® YR, TBIGHS fild T YD SH1S1d T Sie- Bl qae GBI Il Wi
318 o &1 TS| S 7H 8l ‘RaT U feMTs §9% ®M1| aR i i 9 fiee
Pl ORY! ORI GRaR' 3R 4] URY! W18 TR Seae § foarawr & 5d@ ol

ST TS WP SR AT URY BRY &1 Yol GRY g8 a1l H I &l g8 90d
541 T 11 R STt SHHid B URY! 1 Ao d BRY 3 a1Ry] &Y HHh HH -
Ifed TSN el ¥ 3R] eGP 15l Apsi| 3R SR TN § BRY|, 9l { 3Ra
UEE B G $HI RS BRU WP IHRE 390 W@ AR TN Y g HGH|
frerdiaTs JqaHe gi =g a1 e Wi a3 - di @ S BRa
WS TigeH TR BR1E ST Hia T BRY B 9a Ui 5 AieH 3R A
frel e TR Y01 il W STgell aHH 3R g d@a| id BREI R 81 Igd Wi
BUBR (89 B AR @I ol 518 3Ral FaTG ST 3T e BHI|

Sub questions

Question Number : 141 Question Id : 2105298595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TG’ YT HH 3] HHEN?

1. TS ST

2. 98GR
3. grdR
4, fedl

Options :

21052933761. 1



21052933762. 2
21052933763. 3

21052933764. 4

Question Number : 142 Question Id : 2105298596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
RY G HD HEE?

1. 79 DIg-1 gHIfeH
2. IR 9HdR [S@-Iag

3. ‘t_ahfﬂ:f U] i-:|":|
4, R

Options :

21052933765. 1
21052933766. 2
21052933767.3

21052933768. 4

Question Number : 143 Question Id : 2105298597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1. SR

2. A&l

3. AHeH

4. BRE!

Options :

21052933769. 1

21052933770. 2

21052933771.3



21052933772. 4

Question Number : 144 Question Id : 2105298598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2. SRIa

3. Sllg-MHI

4.9

Options :

21052933773. 1

21052933774.2

21052933775. 3

21052933776. 4

Question Number : 145 Question Id : 2105298599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Y1 BRYUT e Hid! gid G- Ol &1 3 SHid s

1. UF 9 591 A18l
2. 33U gid 341 el
3. TOOH® 94
4. NS T

Options :

21052933777. 1
21052933778. 2
21052933779.3

21052933780. 4



Question Id : 2105298594 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension

AT HTHEM T BT T TG Fd USETd A AR PPl a@l 91 QA 95 gMae 1P
FHTE T |

ST ST W Yel JaR IR &I i 1 fafgsl o 71 91 918, Jais o fidat & 323
S T AR R4 H Na@Ral &l 651 3 ¥ A URY Wi Sl 9o Wided R 916l
PICD| A0S T BRE GHIR 3% 1 THG &H, T6icd URG Hidg e URdl
IS TIUR G| S IS Wi AR A&, T, I%dl, Sari, aedl, H9ies, ),
Ugadl 4 A BRUI SRAT I URE &H1| F4] i §HR G et didl 9H JRal|
idT RS Sided Wi 39 URH! 5O i d Yol sfdedd gidl Haid oF1l by gre e d
A1 g B @I Hald 1, HGH Hid1 1 & o[ a1 3 AP Yd R YRR
ORI TS Al d G4 HBHI| S 8l HI&T WS T TR SHI | IREIRE H AR
SR R T ¥ ST AERAEE Bl AFIGET| R AR 3 SERAeedId, TeR, 0¥, 7S S,
SIgIad YR, DA oFid THH Il SIS TH B! S THE FHHH | A& WP
4813 O Bl BB | S5 7 g1 o U fe1S g9 &1 3R Hid o7 9ieTg e
P TR IR GREGR' 3R Fid IR W% TdR ‘Sarasr U oaawr & 3dig &

ST AT W SR IS URY BRY &H| Y38 GRY! g9 sl 3 36 &l &8 9
ST RT3 TR i M1 ST IRE! W1 AR d BRYT W1 TRY1 Y AHGH BH] -
Ifeq Eoanel Wgl ¥ 3R] eIG & g5 Hds| R QR TG ¥ BRY, 98 3Rl
UEIE & SHG BHI R DRY Wip I8 58 W 3R U I 8 ASH
feIdiaTe <[quHTE gat e T f9er Y Udiel Sfid - did Sl T e BRY
1 TiSeH ST Bd ST Hial Tl BRE R a1 {uies ga e R i
ffetl fereret BT YA il EH el a8 R fage 33 id BRET &1 Afad e
SR feod HHI AR DI bl ole SRl TaTG SIb! 3T [ HHI|

Sub questions

Question Number : 141 Question Id : 2105298595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TG YTE HH Sfid] DHET?

1. Tkﬂ_"\;- § S
e

3. GTaR

4. fear
Options :
21052933761. 1
21052933762. 2
21052933763. 3

21052933764. 4

Question Number : 142 Question Id : 2105298596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ORYE G B HHEE?

1. TTH DIg- gHIC

2. URIH SR fSeidg
3. ORI YR

4, AFTITF

Options :

21052933765. 1
21052933766. 2
21052933767.3
21052933768. 4

Question Number : 143 Question Id : 2105298597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



difeg &l o1 URH & Halg BT
1.4 i ol

2. Hfddl

3. s

4, BRE!

Options :

210529337609. 1

21052933770. 2

21052933771. 3

21052933772. 4

Question Number : 144 Question Id : 2105298598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T YR Y019 URA! B7de XTd URY! el g TG 31?2
2, éﬁ*ﬂ:afﬁ

3. <le-MHI

4.9

Options :

21052933773. 1

21052933774. 2

21052933775. 3

21052933776. 4

Question Number : 145 Question Id : 2105298599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



UG BRAT 3fid S 9d @F ol &1 ¥ SHd aFnr

1. OF IS 391 Ar8l
2. 70U 9d 341 el
3. TOOHT® 94
4. RYFTH G

Options :

21052933777. 1
21052933778. 2
21052933779.3
21052933780. 4

Sub-Section Number : 3
Sub-Section Id : 210529329
Question Shuffling Allowed : Yes

Question Id : 2105298600 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension



S STHT PTYT FI HIF TG FTd TSETE § AR PPpeil o 96 @IF 100 T TP
TS T |

it Rt o T o R 2 R e I A o B e e A
e 5fee 3@ T a1sd &1 el e S @1 3 8H U] GRE | 9IS Wi aH
Hoe Ual, HAEH Fd Bifed A 91 938 [Are &H, A5 991G $HI, A5l Bl 3|
SIS/ IG A, HalaTD A1l TS H foid gifed 871 dle=T| e U= < d e e
YRHT §1d STs1p SH], HGH SR H& <M L e URAH U S| fdfgs! 719 8R1® BH]
U] W 2181 B YRS BT il T2 X AFH 416 €U Hd] o] gqda| 3 Wi €9
T 9 1 i gifed =i e Y Bl Wis Berd 1 AuE BHg BH aeg|
g STHIE e JH AR S Sdd THaiad g YRl e[ T -3 TR
WG AT & SIS I HGH YR A 1% GEIY 39 3 g9 T, SR ddd @l &l AFTH Bl
HIRA $ET| ddd WP AHH 3 S G 88 ABHI| A 3l S of 3fe SR TR
A G dddq BT SR TG TS $) Y SeH Hd ST SB, S iarg TR &
S dIPlall g9 SIieue, el Siidig RTH el SHq &M, A1 € @rel 8 e
TSI, T8 idd 3016 oRaT 3 A oiae & &I 91 & 3T e gz L a e
P B GH HAEG STeH GATS Sme AHDEd 63 WP HEES a6 Qe i
| S JdH Y B & | BEH Oed Wi 9 Y A AR AEsd
FHII

AT Y 18] ddld B! 1d YRl JHalaI® S B G S, A g HHH "leHl Tl
&l S, 9@ G 9IeHT & UieH OB 915 1S, @Gl Hia ¥ 9 3R A w
BIEH P 1 dle1| 91 WId 993 i@ | UieH] Bl e Y1 3wl odl TR AR
AR BT ST, AT b AT o ERT AGHI -A1d1 5l <aiie | HaH a1 Wi T il
1% M1 o e 18T §1d B TR 018 G fie 618 WIad U Sieid ball a1 Wid
AR a1 918 & T e TR BlS AR S, 1 Siei s g9 T e |
i 818 &M 1141, 191 Y% 4RE! 918 Y Sreuipa|

AR 3] 516 91 &1 &S Ui a1 A1 eHIS ©H 3181 9RI U1 SHI, HHS] 518 @1
g 7T U1 T2 DI THID B, TG O - ST Bliag fofdTd| I dled S| Sgidie GHldl
S A A B s e e e ot s 1 e T A B et AR
IR 3R Ylded el HTE GRTTg € Yo 3d SH)

Sub questions

Question Number : 146 Question Id : 2105298601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A1dT S{ddRul 1P digid =[qH aI8id J|

1. AN WD fas-1g
2. Q\i'_‘i\ 9 m IﬁTFﬁ
3. ddd YT HRA!

4. 91T TP ST
Options :
21052933781. 1
21052933782. 2
21052933783. 3

21052933784. 4

Question Number : 147 Question Id : 2105298602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR W) AP ddd af Sl BT

2. 3id <Ihma
3. RTH T

4. GIUSAFATD HHL

Options :

21052933785. 1
21052933786. 2
21052933787.3
21052933788. 4

Question Number : 148 Question Id : 2105298603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AT §H1S fae1a o ST T GRS UTOART ST

1. ?I’EIH BIEIEZ

2. E"T:—E SIHIEE

3. U4H HIdp

4, JHRId Ei Hicild
Options :
21052933789. 1
21052933790. 2
21052933791.3

21052933792. 4

Question Number : 149 Question Id : 2105298604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HIEIAIP YRHT Ed HIDT BID BHI?

2. HoHe d

3. g d
4.7 d
Options :
21052933793. 1
21052933794. 2
21052933795. 3

21052933796. 4

Question Number : 150 Question Id : 2105298605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HEl UG @1 GRE d IS W T Hode Jar?
1. dRIH

2.9

3. Hiad

S

Options :

21052933797. 1
21052933798. 2
21052933799. 3
21052933800. 4

Question Id : 2105298600 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension



S STHT PTYT FI HIF TG FTd TSETE § AR PPpeil o 96 @IF 100 T TP
TS T |

it Rt o T o R 2 R e I A o B e e A
e 5fee 3@ T a1sd &1 el e S @1 3 8H U] GRE | 9IS Wi aH
Hoe Ual, HAEH Fd Bifed A 91 938 [Are &H, A5 991G $HI, A5l Bl 3|
SIS/ IG A, HalaTD A1l TS H foid gifed 871 dle=T| e U= < d e e
YRHT §1d STs1p SH], HGH SR H& <M L e URAH U S| fdfgs! 719 8R1® BH]
U] W 2181 B YRS BT il T2 X AFH 416 €U Hd] o] gqda| 3 Wi €9
T 9 1 i gifed =i e Y Bl Wis Berd 1 AuE BHg BH aeg|
g STHIE e JH AR S Sdd THaiad g YRl e[ T -3 TR
WG AT & SIS I HGH YR A 1% GEIY 39 3 g9 T, SR ddd @l &l AFTH Bl
HIRA $ET| ddd WP AHH 3 S G 88 ABHI| A 3l S of 3fe SR TR
A G dddq BT SR TG TS $) Y SeH Hd ST SB, S iarg TR &
S dIPlall g9 SIieue, el Siidig RTH el SHq &M, A1 € @rel 8 e
TSI, T8 idd 3016 oRaT 3 A oiae & &I 91 & 3T e gz L a e
P B GH HAEG STeH GATS Sme AHDEd 63 WP HEES a6 Qe i
| S JdH Y B & | BEH Oed Wi 9 Y A AR AEsd
FHII

AT Y 18] ddld B! 1d YRl JHalaI® S B G S, A g HHH "leHl Tl
&l S, 9@ G 9IeHT & UieH OB 915 1S, @Gl Hia ¥ 9 3R A w
BIEH P 1 dle1| 91 WId 993 i@ | UieH] Bl e Y1 3wl odl TR AR
AR BT ST, AT b AT o ERT AGHI -A1d1 5l <aiie | HaH a1 Wi T il
1% M1 o e 18T §1d B TR 018 G fie 618 WIad U Sieid ball a1 Wid
AR a1 918 & T e TR BlS AR S, 1 Siei s g9 T e |
i 818 &M 1141, 191 Y% 4RE! 918 Y Sreuipa|

AR 3] 516 91 &1 &S Ui a1 A1 eHIS ©H 3181 9RI U1 SHI, HHS] 518 @1
g 7T U1 T2 DI THID B, TG O - ST Bliag fofdTd| I dled S| Sgidie GHldl
S A A B s e e e ot s 1 e T A B et AR
IR 3R Ylded el HTE GRTTg € Yo 3d SH)

Sub questions

Question Number : 146 Question Id : 2105298601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A1dT S{ddRul 1P digid =[qH aI8id J|

1. AN WD fas-1g
2. Q\i'_‘i\ 9 m IﬁTFﬁ
3. ddd YT HRA!

4. 91T TP ST
Options :
21052933781. 1
21052933782. 2
21052933783. 3

21052933784. 4

Question Number : 147 Question Id : 2105298602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR W) AP ddd af Sl BT

2. 3id <Ihma
3. RTH T

4. GIUSAFATD HHL

Options :

21052933785. 1
21052933786. 2
21052933787.3
21052933788. 4

Question Number : 148 Question Id : 2105298603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AT §H1S fae1a o ST T GRS UTOART ST

1. ?I’EIH BIEIEZ

2. E"T:—E SIHIEE

3. U4H HIdp

4, JHRId Ei Hicild
Options :
21052933789. 1
21052933790. 2
21052933791.3

21052933792. 4

Question Number : 149 Question Id : 2105298604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HIEIAIP YRHT Ed HIDT BID BHI?

2. HoHe d

3. g d
4.7 d
Options :
21052933793. 1
21052933794. 2
21052933795. 3

21052933796. 4

Question Number : 150 Question Id : 2105298605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HTdl Yl @I GRAE d 9IS Wih T HoHE Yal?

1. 91TMH

2.
3, Hiad

4. @IUSH

Options :

21052933797. 1
21052933798. 2
21052933799. 3
21052933800. 4



